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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section—-A / GUs—d

(Long Answer Type Questions) / (€78 IR T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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What do you understand by Marshalling used in the

Balance Sheet ? Elaborate different forms of
marshalling with help of examples.
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“The main difference between normative and positive
(accounting) theories is that normative theories are
prescriptive, whereas positive theories are descriptive,
explanatory or predictive.” Explain.
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What do you mean by International Financial
Reporting Standard ? What are the advantages of
converting to IFRS ? Explain.
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Explain the significance of measuring the human
resource of the organization. What are the various
methods of measuring human resource of the
organization ?
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Section-B / ve—Yg
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Note : Section ‘B’ contains eight (08) short answer type

e

1.

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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When can revenue be recognized in case of transaction
of sales of goods as per Accounting Standard ?
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What is the difference between economic profit and
accounting profit ?
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Problems in Accounting for Intangible Assets.
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Realization concept.
Ui el HehodHT |
Explain the three kinds of responsibility centres.
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What are the needs for harmonisation of corporate
reports ?
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Pragmatic approach of accounting theory construction.
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What are the steps in implementing an accounting
information system ?
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(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

e

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Indicate whether the following statements are True or False :
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1.

Responsibility accounting does not serve the purpose
in following the principle of management by
exception. (True/False)
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Economic concept of income places emphasis on value
and value changes rather than historical costs.
(True/False)
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An accrued commission appearing on the debit side of

the trial balance is to be shown on the liabilities side of
the balance sheet. (True/False)
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A departure from IFRS happens when the financial

statement would be unfairly presented because of
compliance with IFRS. (True/False)
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Stochastic Reward Valuation model describes the
fixation of the value of an employee depending upon
his productivity, promotability transferability and
retainability. (True/False)
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Select the best/most corrective alternative for the
following :
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6. Which of the following statements is the most suitable
statement about accounting harmonization ?

(a) Nationalism feeling is deteriorated.

(b) Since there is little difference among capital
markets in different countries, harmonisation is
desired.

(c) It helps in raising the quality of accounting
practice internationally.

(d) None of the above
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7.  Which of the following is not included in the ‘Cash
and cash equivalent’ component ?

(@ Short-term liquid investments
(b) Bank overdrafts

(c) Equity investment

(d) Cashinhand
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The accounting conceptual framework is ............ kind
of theory.

(@) Abstract
(b) Normative
(c) Positive

(d) Emergent
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Which of the following is not an intangible asset ?
(a) Patents and Copyrights

(b) Research and development costs

(c) Scientific equipment

(d) Goodwill
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10. Going concern concept is best described :

(@ When current assets minus current liabilities
become negative.

(b) The ability of entity to continue in operation for
the foreseeable future.

(c) The income less expenses of an entity are
negative

(d) None of the above
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